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QUESTION 1

A new ESXi host was added to an existing cluster, prepared for NSX and enabled for Distributed Firewall, logical
switching and Logical Routing. The Host Preparation page in the NSX Web Ul shows this new host is in Ready state
and the Logical Network Preparation tab displays the VXLAN VTEPs are correctly configured. Virtual machines on the
new host can communicate with each other but CANNOT communicate with VMs running on other hosts and connected
to the same Logical Switch. Which condition below will result in the described behavior on the new host?

A. NSX Edge is powered off

B. Host Agent (vpxa) to vCenter is disconnected

C. Rabbitmg message bus connection (vsfwd) to NSX Manager is down

D. Network Control Plane Agent (netcpa) connection to the controller is down

Correct Answer: D

QUESTION 2

An NSX administrator determines that routing adjacency a NSX Edge device and a Top Of Rack L3 switch CANNOT be
established. Which two logs would be the most useful in resolving this issue? (Choose two.)

A. NSX Manager Logs

B. Edge Services Gateway logs
C. Distributed Router Logs

D. NSX Controller logs

Correct Answer: BD

QUESTION 3

An administrator has been asked to provide single failure redundancy. What is the minimum supported number of NSX
Controllers needed to meet this requirements?

A.2
B.3
C.1
D.5

Correct Answer: B

QUESTION 4
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Which term describes a situation where a bottleneck is created when traffic is sent to a single device for security
enforcement?

A. security event queueing
B. hairpinning

C. security looping

D. enforcement degradation

Correct Answer: A

QUESTION 5

There is intermittent connectivity reported between virtual machines on separate hosts over logical switching.
What command-line tool can be used to test the MTU between two hosts?

A. netstat -1

B. esxcli network ip neighbor list

C. vmkping

D. traceroute

Correct Answer: C
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